1 10
NO A B
1 9:30] FC A SCA FC S5S FCB SC FC B SCB
2 9:50 SCA JFCB FC A A B FC B FCB c
3] 10:10 A JFCA SCA FC SC JFCC B SCB
4] 10:30 FC SSS SCA Al FC B SCB FCB SC
5| 10:50 FC A A JFCB 5SS FCB JFCC B FC B
6] 11:10 SCA FC FC A JFCA B SCB SC c
7] 11:30 SCA A SCA S5S 1
8] 1150 JFCB SSS SCA A 1
9] 12:10| FC A A JFCB FC 1
10| 12:30 SCA SSS FC A SCA
11 1250 SCA A SCA JFCB
12| 13:10 JFCB FC A JFCA
13| 13:40 1
NO
1 9:00 SC SC SC
2 9:20 FC Kl SC FC
3 9:40 FC SC FC SC
4] 10:00 SC SC FC SC
5| 10:20 SC FC K1 SC
6] 10:40 FC SC sC SC
7] 11.00 FC SC FC SC
8] 11:20 Kl SC FC FC
9] 1140 SC SC K1 SC
10| 12:00 FC SC SC FC
11| 12:20 FC FC F K1
12| 12:40 K| SC FC SC
13| 13:10 1
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